N & 0l & AF S & M M

20219 &= 20l & LB H Aot
AN dot=E
M SEH0 HZZ Aot =EIMA
©e: DSa4E BRl2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Aot=S Dt 21,081,971 14,419,851 6,662,120
= 8,178,000
[ia 12,903,971
SEXQ 222 Holx=E =HIMA 14,520,496 7,633,060 6,887,436
= 8,178,000
[ia 6,342,496
otS&E 2229 578,196 745,740 A 167,544
ot AIBE 22l 3,500 0 3,500
201 Let24d] 3,500 0 3,500
01 At 22l 3,500 0 3,500
O&ot=E 28 d2FX 2,000
OR2ZE R4 S 1,500
o2&+ KA 574,696 745,740 A171,044
201 Lt 50,000 70,000 A20,000
01 At 22l 50,000 70,000 220,000
Oltsd=E = =Z2FA =2 50,000
203 YR =2t 2,500 2,500 0
03 Al =AY R =& 2,500 2,500 0
O&ot=& AIM =2 2,500
206 M= Hl 20,000 20,000 0
01 M= 4l 20,000 20,000 0
OLARSEANE ASAF 7Y 19,000
OARE=EANE 228 ¢ 1,000
401 AIEHI L 2 0] 502,196 653,240 A 151,044
01 A& Bl 500,000 650,000 A 150,000
ODISA+E 9sar 8
1,500,000& 5000 A« 1 75,000
O==2H WHEA 10,000,000 «10H &1 100,000
ongaaxc 5223l
30,000, 000 «5H X *+ 14 150,000
Oolts&=+& 2F3E > 30,000,000& 14 30,000
Olisa+: 28 HoME
4,500,000% 1000 2~ +14 45,000
O8I, &I XAt 100,000,000 1 100,000
03 Al 2 THHI 2,196 3,240 AN 1,044
Oligda=: 2223
150,000,000%0. 72%* 1 1,080
O==2H LHIA 100,000,000%0. 9%+ 1 900
Oontsa=& 232+ 30,000,000%0.72%+ 1 216
ot=ZAlE i 13,824,340 6,668,400 7,155,940
= 8,178,000
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SN ASRED
Hu: 5EMO PR MEAT SEWM
&l St Ald A CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
o 5,646,340
S=HelAlE KA 13,000 13,000 0
201 B9 13,000 13,000 0
01 AP 22| H| 8,500 8,500 0
O=%=Z A A 100,000& 1 100
OFSIE CGHUHE N 8 2002 2, 0000 x 13| 400
O=2&g&a HosE 2 2,000,000%43] 8,000
02 B32ZH| 4,500 4,500 0
O&FSIE GtUHGE AN &= 350%2,0000H 13| 700
Odsote+== &3ldl 2,000
OZZHIAS ¢4 SMN23
7,500 *200) A x12& 1,800
AAGHE-SLH2E =8 HIALY 50,000 50,000 0
401 AlEHI 2L 2 0HY| 50,000 50,000 0
01 Al&H| 50,000 50,000 0
OYA Bl Held FHHSAY 50,000
2ZSHAA HESAS 35,000 35,000 0
101 2121 d| 5,000 5,000 0
04 JIZ2tHI22XNSE S 5,000 5,000 0
OZ2F3&A Al A2 5,000,000% 14! 5,000
401 Al HI L 204 HI 30,000 30,000 0
01 Al&H| 30,000 30,000 0
OZ2ZSH&EA HE£ 10,000,000 34 A~ 30,000
ol =4 & zZe| 201,440 100,900 100,540
401 AlEHIZL 2 0HY| 201,440 100,900 100,540
01 Al&H| 200,000 100,000 100,000
OZ2Z20tE=T AN =4 2 22|
200,000,000 1A 200,000
03 AlE 201 1,440 900 540
OZ2Z0tT A =4 U 22
200,000,000 *0.72% 1,440
otEE 20 FU=RAE 100,900 100,900 0
401 AlEHIZL 201 Y| 100,900 100,900 0]
01 Al&H| 100,000 100,000 0
OS2 &AL MFZBAM 100,000
03 AlE 20| 900 900 0
OS2 SZTA ST
100,000,000 *0. 9% 900
ot 2=xcel 3,517,000 714,000 2,803,000

o X 2 22 (St=2HFHH ) (LA
)
o
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Qb fol 0z

ot ==& 1t
ESHel 222 Yol =2 H
=T AE HA

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 2., 462,000
= 1,055,000
401 AlEHIZL £ 0HY| 3,517,000 714,000 2,803,000
= 2,462,000
= 1,055,000
01 Al&H| 3,507,505 709,502 2,798,003
Ogal - 24 HelRY o222 HUlAY
3,517,000, 000%(1-0.27%) 3,507,505
= 2,462,000
= 1,045,505
03 AlE 21| 9,495 4,498 4,997
Oga - 2% Xel71Y otz HHAY
3,517,000,000%0.26997% 9,495
S5H4C HBAY 955,700 503, 600 452,100
401 AlEHIZL 2 0HY| 955,700 503,600 452,100
01 Al&H| 950,000 500,000 450,000
Ogalg HEXP o222 Hdl & NSFAMY
450,000,000% 14! 450,000
Obdtx=T AMAE= HEAY 200,000,000 x 1Al 200,000
Qot=E 22 HEAIY 300,000,000 « 1Al 300,000
03 Al 201 Y| 5,700 3,600 2,100
ObdtEE JHEALY 950,000,000 *0.6% 5,700
StaEol S % Bel(S0ENSoHEEHHIAY)( 1,406,000 360,000 1,046,000
QEXR)
= 984,000
= 422,000
401 AlEHIZL 201 Y| 1,406,000 360,000 1,046,000
= 984,000
= 422,000
01 Al&H| 1,401,782 357,408 1,044,374
OEXNT sO= OIS0t % ZHIAY
1,406,000,000%(1-0.3%) 1,401,782
= 984,000
= 417,782
03 Al 201 Y| 4,218 2,592 1,626
OEXNT sO= OIS0t % JHIAY
1,406,000,000*0.3% 4,218
YA GIATHUIIIZHE L SHOIS BRAHEY © 500,000 500, 000 0
2 28
401 AlEHIZL 2 0HY| 500,000 500,000 0
01 Al gl 500,000 500,000 0
YNT SHASHHOIZNE L 2XHOE e
HE BHE 25 A 500,000
20 HX Y Bel(GHEBEIU)(LLLSHE) 3,585,000 694,000 2,891,000
3,085,000




SN ASRED
M SEH0 HZZ Aot =EIMA
Sl ST AE WA CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 500,000
401 Al& I 28I 3,585,000 694,000 2,891,000
= 3,085,000
s 500,000
01 A& HI 3,576,000 689,628 2,886,372
O 2+ =Fdt+=22 FHAY 3,576,000
= 3,085,000
[ia 491,000
03 Al 20 Hl 9,000 4,372 4,628
O 2= =Sot+=22 A 9,000
SS9 X ¥ Zed(sHEDIS6tT FHIALY)( 1,390,000 314,000 1,076,000
LX)
= 973,000
[ia 417,000
401 Al BIZ 201 8] 1,390,000 314,000 1,076,000
= 973,000
[ia 417,000
01 A& HI 1,384,996 311,740 1,073,256
O 2dX72 sHE OISot=E JHIALY
1,390,000, 000+ (1-0.36%) 1,384,996
= 973,000
s 411,996
03 A& =2 THHI 5,004 2,260 2,744
O 2dX7? sHE OiSot=E JHIALY
1,390,000,000%0. 36% 5,004
St+=9 AX ¥ Z2e(-Fo+22 FUXIA 348,000 400,000 252,000
= 174,000
s 174,000
401 A& BIZ 201 8I 348,000 400,000 252,000
= 174,000
e 174,000
01 Al& Hl 348,000 400,000 A 52,000
O L=ot=22 UM 348,000
= 174,000
s 174,000
SS9 Xl ¥ Zel(=sHEDS6t=T FHIALY)( 358,000 0 358,000
EXF)
= 250,000
[ia 108,000
401 Al Bl 28I 358,000 0 358,000
= 250,000
e 108,000
01 A& HI 355,423 0 355,423
O2LLEXZ? sHE Oi2ot=% FHIAY
358,000,000+ (1-0.72%) 355,423
= 250,000
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AN dot=E
Hu: 5EMO PR MEAT SEWM
el St Al A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 105,423
03 Al 2 THHI 2,577 2,577
OLLEXNF? s0HE OISot=& ZHIAY
358,000,000%0.7198% 2,577
St==o HX ¥ Zel(s0HEOSat=% FHIA)( 358,000 358,000
S8XF)
= 250,000
[ia 108,000
401 AIEHI L 201 358,000 358,000
= 250,000
[ia 108,000
01 A& HI 355,423 355,423
OZ28X7? sHE Oi2ot=% FHIAY
358,000, 000%(1-0.72%) 355,423
= 250,000
[ia 105,423
03 Al S THHI 2,577 2,577
OZ28X7? sHE Oi2ot=% FUIAY
358,000,000%0.7197% 2,577
St=So Xl 2 Zel(sHEDSct=T FHIALY)( 1,006,300 1,006,300
HAM 8EHEE)
401 Al HI K 201 I 1,006,300 1,006,300
01 A& HI 1,000,000 1,000,000
O&=4t 2L dot=S SHFHAY 1,000,000
03 A& =2 I 6,300 6,300
O8=4t 22 aot=E SHHAY
1,000,000, 000%0.63% 6,300
=& Jlaael 117,960 218 A 100,960
d2F D22 117,960 118, A 960
201 Let24E] 117,960 118, A 960
01 At 2t 2l 117,960 118, A 960
Ogasd 114,960
—= & 4 60,0003 «3652 «2H «2H 2 87,600
— 2 & 4l 60,000 1142 «2H *20H A 27,360
OF2=Z 29 2&HI(2914) 3,000,000& x14 3,000
He&s(aot=21) 6,515,635 , 743, N227,476
LHEAHH K= 6,515,635 , 743, N227,476
ST ANLELIH HES 6,302,083 ,529, A 227,476
701 JIEtSI HEHES 6,302,083 ,529, N 227,476
01 JIEtZIHEES 6,302,083 ,529, A 227,476
Od=EAHELESNH HES 6,302,083
St=S AL SESH dES 213,552 213 0
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SN MEte
X XH - XHD
(=R B

S WHEHAHXS (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
1JIEtSIHETE2 213,552 213,552 0
01 JIEtSI HE &E= 213,552 213,552 0
Oot=SMEELEIH BEZ
213,552,000& * 14 213,552
¥y SHHY (Aot 45,840 43,680 2,160
=Nl 45,840 43,680 2,160
ot 1t Jl2&tl 45,840 43,680 2,160
201 LEt2 Y| 19,440 17,280 2,160
01 A2 22| bl 19,440 17,280 2,160
O SHU A 15,552,000& =14 15,552
O 2Hl = 3,888,000 1 3,888
202 04| 21,600 21,600 0
01 2LHOHI 21,600 21,600 0
O SAHANYI 21,600,000& 14 21,600
203 € R =&lY| 4,800 4,800 0
04 ENSILER= 4,800 4,800 0
O &ttt 400,000& = 12& 4,800

- 510 -




